Boden-Savast BS

Dagbridge 2022-02-16

Partavling, 5 bord, 9 par. Antal brickor: 24. Medel: 71.9. Frirond (*) ger egen procent.

Plac  Par Poéng % Namn MID Klubb
1 10 85.7 59.52  Ingegerd Hagstrém - Monica Andersson 20580 12514  Boden-Savast BS
2 5 80.0 55.56  Thord Lindberg - Hans Holmqvist 5302 43780 Boden-Séavast BS
3 4 78.0 54.17  Christina Hermansson - Pia Elmgren 33077 12647  Boden-Savast BS
4 7 75.4 52.38  Christina Lindmo - Liz Nordberg 59995 43789  Boden-Savast BS
5 6 73.1 50.79  Lars Hermansson - Urban Andersson 31972 81068 Boden-Savast BS
6 3 69.7 48.41  Lennart Isaksson - Anders Falck 87544 87547  Boden-Savast BS
7 9 65.1 45.24  Birgit Ronnback - Ingeborg Englund 41601 89348  Boden-Savast BS
8 2 61.7 42.86  Monika Lindstréom - Ingrid Lund 33074 43772  Boden-Séavast BS
9 1 58.3 40.48  Monika Markstedt - Carina Bergman 62841 62837  Boden-Savast BS
1 4 108654 2 « D94 3 49532
Nord v D83 Ost vE9764 Syd v EKn8
Ingen ¢+ Kn74 NS .- ov + 106
£102 #ED754 #EKDKn
4 D73 & K92 4 E52 463 4 K107 +Kn4
vK7 v 1052 vD1053 vKKn v 963 v K742
¢ E9852 463 ¢ K1094 ¢ E87632 ¢ KKn9752 ¢ D83
«D93 #KKn765 2102 »K83 «9 #10653
& EKn 4« KKn1087 « ED86
v EKn964 v 82 vD105
¢+ KD10 ¢ DKn5 ¢E4
&»E84 #Kn96 &8742
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
9 1 lvS+1 ¢ A 110 6.0 00| 2 4 5¢ 0-2 ] 100 50 10| 2 4 44S-1 «9 -50 3.0 3.0
3 6 3vS-2 ¢ A -100 3.0 3.0|10 5 5¢ 0-2 &K 100 50 10| 3 6 44 N-1 +3 -50 3.0 3.0
10 5 4vS-2 ¢ A -100 3.0 30| 3 6 54S-1 +K -100 2.0 40| 9 1 44S-1 *9 -50 3.0 3.0
2 4 340= v] -110 00 60| 9 1 44 0= *] -130 0.0 6.0|/10 5 44 N-1 43 -50 3.0 3.0
7 - 31 7 - 31 7 - 31
4 4 K10853 5 43 6 4« D10953
Vast vE2 Nord v75 Ost vE109
Alla +532 NS + D965 ov ¢ Kn7
&K75 #EKn10854 #1072
D972 4 E64 49 « ED654 486 & EKn42
vKD754 vKn983 vE108642 vKKn vKD85 ¢73
¢- + ED6 + K1087 + Kn32 ¢ K952 ¢ D10643
D986  #E42 *73 *K96 #E85 #Kn6
aKn 4 KKn10872 4 K7
v 106 v D93 v Kn642
¢ KKn109874 ¢E4 +E8
#Kn103 «D2 #KD943
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 54v0-1 *7 100 50 10| 4 7 340-2 *Q 100 50 10| 9 2 INS+2 v8 150 6.0 0.0
10 6 4v V-1 2 100 50 1.0[10 6 24 O-2 *Q 100 50 10| 4 7 24 N-1 v7 -50 4.0 2.0
4 7 4v V= &5 -620 1.0 50| 3 5 2NO+1 a7 -150 2.0 40| 3 5 3¢ 0+1 20 -130 2.0 4.0
9 2 4v V= &5 -620 1.0 50| 9 2 2NO+2 aT -180 0.0 6.0|10 6 44S-3 2 -150 0.0 6.0
-1 241 - 1 241 - 1 24
7 « DKn3 8 « EK964 9 « D73
Syd v EKn9 Vast v3 Nord v Kn6
Alla ¢ E965 Ingen + K1063 ov ¢ EK953
#532 D82 #1063
49762 & K854 4 Kn2 4 D10873 4E95 486
vKD4 v 1073 vK842 vKnl065 vK972 vD85
+D2 +Kn73 4975 +84 +Kn86 ¢ 107
#EKDKn #1076 #E1094 &K5 #E82 #KDKn954
4 E10 45 4« KKn1042
v 8652 v ED97 vE1043
+ K1084 ¢ EDKn2 ¢ D42
#984 #Kn763 &7
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
9 3 INV-1 +5 100 50 10| 1 2 3NS= LY 400 6.0 00| 4 6 34 S+1 A 170 50 1.0
10 7 24V-1 +5 100 50 10| 4 6 3NN-1 v] 50 2.0 40| 9 3 24 S+2 +6 170 5.0 1.0
1 2 INV= +5 90 1.0 50| 9 3 3NS-1 v2 50 2.0 40|10 7 3¢ N+1 »5 130 20 4.0
4 6 INV= +5 90 1.0 50|10 7 3NS-1 v2 50 2.0 40| 1 2 440-1 aT 100 0.0 6.0
5 - 33 5 - 33 5 - 33
10 4« EKn85 11 4 D872 12 48
Ost vK3 Syd v 863 Vast v K632
Alla +D76 Ingen ¢+ Kn9 NS ¢+ Kn76
K732 #K1096 #KKn1072
4 KD10742 46 4 K643 4 E9 4Knd43 &4 E102
v9 v 754 vDKn10954 vE2 vD1054 vKn97
¢Kn1082 ¢ EK953 +8 + K6543 ¢ E95 + K108
D8 *E964 *Kn7 #D853 #ED4 #9653
493 4 Kn105 4 KD9765
v EDKn10862 v K7 vE8
*4 + ED1072 ¢ D432
#Kn105 *E42 28
Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang
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9 4 4v S= &K 620 60 00| 2 3 4vV-3 8 150 6.0 0.0 7 24 S= ¢ A 110 6.0 0.0
5 7 3NN= ¢+5 600 40 20| 5 7 24 N= +6 110 3.0 3.0 1 24S-1 vT -100 4.0 2.0
6 1 34V-3 vK 300 20 40| 6 1 24 N= vA 110 3.0 3.0 3 2NO= 49 -120 2.0 4.0
2 3 4vsSs-1 4Q -100 00 60| 9 4 3vV-2 +9 100 0.0 6.0 4 34 S-2 &4 -200 0.0 6.0
10 - 3.6 0o - 3.6 - 3.6
& Kn5 4« Kn1052 & Kn2
v 1075 v 8732 v EKn1082
+ EK9 ¢ Kn ¢ KKn10
#DKn1096 #EKN86 743
« K1092 4 ED873 a7 » EK4 & K543 « E108
vEK94 v DKn v K6 v EKn954 v76 v K9
4653 410874 ¢+ K10854 ¢ E7 + ED8732 496
*75 #KD1042 %973 &K #EDKn1098
464 4« D9863 « D976
v 8632 v D10 v D543
¢ DKn2 + D9632 ¢ 54
#K432 &5 #652
Ut Res [¢] Kontr Ut Res Poang Kontr Ut Res Poang
7 vK -100 6.0 00| 3 4 3NV-1 3 50 50 10| 7 2 3#0+1 v5 -130 6.0 0.0
1 *2 -170 3.0 30| 7 2 4v0-1 &5 50 50 10| 3 4 3NV= a7 -400 4.0 2.0
9 +Q -170 3.0 30| 1 10 3NO= 2 400 2.0 40| 1 10 3NO+1 46 -430 1.0 5.0
3 »2 -620 0.0 6.0 9 5 3NO+2 ¢2 -460 00 6.0 9 5 3NO+1 vQ -430 1.0 5.0
6 3.0 6 - 3.0 6 - 3.0
4 Kn10 « KD5 « KDKn9
v DKn532 v973 v-
¢ EKKn + EK86 + D104
#1092 K72 #EKD984
29542 & KD863 « E98 a3 2107642 483
vE87 vK104 v EK102 vKn654 v 92 vKD764
4976 ¢ D1083 42 4 Kn9753 ¢ E62 + Kn987
#Kn64 &7 #9853  #Knl06 #1062 &Kn7
«E7 « Kn107642 «E5
v 96 vD8 v EKn10853
¢ 542 + D10 + K53
#EKD853 #ED4 &53
Ut Res [o] Par Kontr Ut Res Poéng Kontr Ut Res Poéng
7 1 vA 150 60 00| 4 5 44 N+1 &J 450 60 00| 9 6 6NS= ¢ A 1440 6.0 0.0
4 5 a2 130 40 20| 7 1 44S= vA 420 30 30| 2 10 3NS+3 *A 690 3.0 3.0
2 10 &K 110 20 40| 9 6 44 N= v4 420 30 30| 7 1 3NS+3 a2 690 3.0 3.0
9 6 a5 -50 0.0 60| 2 10 2NN +2 +3 180 00 60| 4 5 3#N+3 vK 170 0.0 6.0
- 3 2.9 - 3 2.9 - 3 2.9
« KKn8 4107432 4875
v D107 v Kn106 v Kn97
¢ 102 ¢+ ED10 ¢+ E754
#EKn975 &75 K95
4 E9753 4104 4965 & DKn 4 D943 & KKn
v K63 v 9743 v EKD82 v EKD3 v 8542
¢ EK875 ¢ D94 ¢+5 ¢+ Kn72 +D9%  ¢Kn8
#KD632 #109432 #»EKn8 D8 #EKN1074
« D62 + EK8 « E1062
v EKn9842 v5 v 106
¢ Kn63 + K98643 ¢ K1032
210 *KD6 632
Ut Res [¢] Par Kontr Ut Res Poang Kontr Ut Res Poang
5 v7 200 6.0 00| 9 7 4vDO-3 #A 800 6.0 00| 1 4 3NV+1 v9 -430 5.0 1.0
9 *A 140 40 20| 1 4 3¢ S+2 v9 150 40 20| 5 6 3NV+1 *4 -430 5.0 1.0
3 vQ 100 20 40| 3 10 3¢ S+1 v9 130 20 40| 3 10 3NV+2 +5 -460 2.0 4.0
1 ¢ A -100 0.0 6.0| 5 6 4vV-1 ¢7 100 00 60| 9 7 4vV+2 &5 -480 0.0 6.0
- 2.6 - 2 2.6 -2 2.6
873 #1087 #1065
v 1082 v5 v KKn8754
+ Kn64 + EK10962 + Kn75
#EK63 #D83 &E
4642 4 DKn95 493 & EDKn6 « D743 4 Kn8
v753 vKn4 v8632 vDKn4 v 32 vE
48532 ¢KD10 + D875 ¢Kn +3 + KD9842
#Kn92 10754 #654  &KKn1097 #D108732 #K965
+« EK10 & K542 « EK92
v EKD96 v EK1097 v D1096
¢ E97 +43 + E106
D8 SE2 &Kn4
ut Res [¢] Par Kontr ut Res Poang Kontr ut Res Poang
1 ¢+5 450 50 10| 2 5 3#0-3 +4 300 6.0 00| 2 5 4vy N= ¢+ K 420 40 2.0
6 &9 450 50 10| 4 10 34 S+1 &6 170 40 20| 4 10 4vy N= * K 420 40 2.0
4 +8 420 20 40| 6 7 3vS= &6 140 20 40| 6 7 4vyN= *4 420 40 2.0
2 *2 50 0.0 60| 1 3 3NN-2 &7 200 0.0 6.0| 1 3 4vS-1 43 -50 0.0 6.0
9 2.7 9 2.7 9 2.7
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